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Topic:- General Knowledge and Logical Knowledge

1) The RTI Act received presidential assent on . am‘&ané Srferferaw &t & ﬁ‘[
Ireeufe Tt fd firett

1. 15 August 2005 / 15 3T 2005
2. 15™ March 2005 / 15 A/ 2005
3. 15" June 2005 / 15 S 2005

4. 15% July 2005 / 15 TS 2005

Correct Answer :-
« 15" June 2005 / 15§ 2005

2) India's first Bio-CNG plant producing CNG from agricultural residue is located in ./ Tﬁ'

3raRuT A ool T aTaT HRE BT 5w Sg-HeToh wie dfREzl
1. Jharkhand / IRES

2. Telangana / G

3. Maharashtra / HEIRTY

4. Madhya Pradesh / Y

Correct Answer :-

e Maharashtra / IIB'I'\"IEr

3) The series given below contains a sequence of numbers. Identify the incorrect combination: / :ﬂ% Ea Tlé
SaeT H, TA13M BT TP HH SURIG & | Terd FaToi ugdI-e:

8, 14, 26, 48, 98, 194

1. 98

2.48

@)



3.14

4. 194

Correct Answer :-
o 48

4) The series given below contains a sequence of numbers. Identify the incorrect combination: / =ﬂ% a TIE‘

QT §, TS BT TP s H IR € | TeTd TSI Uga-e:
23,29, 31, 37, 39, 44

1. 31

2.39

3,37

4. 44

Correct Answer :-

5) Select the option that is true about the Statements and Conclusions given: / 3 ICEgR kg WW El|
% faw @ wy=T o el & o # |8 3

Statements: / PY:

Some girls are dancers / PO i’l@'ﬁﬂﬂ E LG %
No girl can sing / aﬁéasaﬂmﬂé’rﬂao—cﬁ%

Conclusions: / fIsp:
I. Boys can sing / F’I@ﬁ? M qHd %
II. Some dancers can sing / P& qdP T Pbd %

1. both conclusion I and II follows / ﬁ'ﬁ@ﬁ@fl 3%? II Eﬁ:ﬁ ST Hd %’

2. only conclusion I follows / $Had FhY 1 ST hRdl 3

3. only conclusion II follows / pad ey 11 ST pdl %

4, neither conclusion I nor conclusion II follows / - Bof epy 18R A a ey 11 ST GG %

Correct Answer :-

« neither conclusion I nor conclusion IT follows / 71 & feart 1 3R 71 gt fAepef 11 SR B g

6) Select the option that is true about the Statements and Conclusions given: : / 3 e w19aq

PIRTT it 6 T U HYAT iR Frepsl F IR d Ot &

Statements: / PY:
(3)



Some kids are teenagers / P& g foaik g
Some teenagers are intelligent / $© fHMR gfaa &

Conclusions: / fFep:

I. Some Kkids are not intelligent / P& T mﬁqﬁ%
I1. Some teenagers are not intelligent / PO femie '§@TIT=I qé:f %

1. both conclusion I and II follows / few S 1 3R 11 AT SR Hd %

2. only conclusion I follows / Had Y 1 SRV pXdT 7

3. only conclusion II follows / had (Y 11 ST AT ]

4. neither conclusion I nor conclusion IT follows / -1 BQI fsp 1 3R T éjf o 11 ST P %

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 &1 F5HY 1 3R 71 & fseht 11 SR IRA §

7) Select the option that is true about the Statements and Conclusions given: / 3 IEE Ik pE]

FIRTE & ¥ 3T 7T Hy=1 o Frewyl F I & 9 &

Statements: / DY:
All wires are threads / G4 IR 4T %
All threads are ribbons / JH €T Wid %

Conclusions: / fFehd:
L. All ribbons are wires / IH! BId &Y %
IL All wires are ribbons / T4 R Wid %

1. both conclusion I and II follows / fF5pd 1 3%? II dlfi\I. SR BHId %

2. only conclusion I follows / Had Ty 1 SR Pl g

3. only conclusion IT follows / pad s 11 SR pdl %

4. neither conclusion I nor conclusion II follows / 7 &1 w1 3R 71 &1 s 11 ST IR &

Correct Answer :-

« only conclusion II follows / &Had FTpY 11 SR pdl g

8) Who is the Home Minister of India? / HRd & e EEIkaE %?
1. Arun Jaitley / 3R SIea

2. Piyush Goyal / G-I T

3. Rajnath Singh / oY Rig

4. Nitin Gadkari / e TS

Correct Answer :-

« Rajnath Singh / ST g
4)



9) Who is the Prime Minister who has had the longest term in office? / dg TUTTHAT CaE| % INECY

A ddl 3rafl &1 HRibTa Y8122
1. Jawaharlal Nehru / STdTER ATd 8%

2. Manmohan Singh / Il:nﬂ%:rﬁ‘s’
3. Indira Gandhi / ST il

4, Lal Bahadur Shastri / <lc] dgTgY Rt

Correct Answer :-

« Jawaharlal Nehru / STTgR AT A8

10) How many political parties in India have the National Party Status? / HIRd H fpam Ierfae

el & UT AT o BT qoll (AR1d T Wew) &7
1.7
2. 12
3.5

4.3

Correct Answer :-

11) The Judges of the Supreme Court can be removed by / Tat=T ey & <grardRn & fead
SRT §CTAT ST Aohdll 52

1. Parliament / S9G
2. Law minister / ®TIA T
3. The President / TIE'CI'[%T

4, Prime Minister / THT HAT

Correct Answer :-
o Parliament / 999G

12) Satish Dhawan Space Centre is located at / a1 YaT ARal $% H Rzl

1. Thiruvananthapuram / T%R“_OH?IHW
2. Sriharikota / $TgR®Ier

3. Narendrapuri / SR Q_iﬂ

®)



4. Mahendragiri / q%’ali Rl

Correct Answer :-

e Sriharikota / WET

13) Which state has the maximum forest cover in India? / YRA H foa I ® Siftrpaw a9
SATBTET (BN PaX) 82

1. Jharkhand / ETR@_S'
2. Uttar Pradesh / 31X m
3. Haryana / g

4. Madhya Pradesh / H&] LY

Correct Answer :-

« Madhya Pradesh / ¥ PER

14) Which Article of the Constitution of India provides special status to Jammu and Kashmir? /

YRT & AU BT BIF-9T 6 17 T HRAR & faRiw fRufS wem srar 32
1,371
2. 370
3. 368

4.372

Correct Answer :-

15) Which is the first State in India to achieve 100% electrification of households? / HIRd 7100 %

fagadI® T T -+ 9191 IS B AT |2

1. Gujarat / ¥[IRId
2. Andhra Pradesh / 3118 =T

3. Meghalaya / L= oI G}

4. Madhya Pradesh / H&] TCRT

Correct Answer :-

e Gujarat / IR

(6)



What is the probability of getting a face card from a pack of 52 cards? / 52 U<l & 989 9 B Ble

(AT 19T U= & (e &t et |82
1.1/52
2.2/13
3. 4/13

4. 1/26

Correct Answer :-

e 4/13

17) The BRICS Smart Cities Conference was held in 2016 in / 2016 ¥ faeg e PIRES CACy |
# Smaifora @&t it At

1. Shillong / RIGAMT
2. Jaipur / SIIYY

3. Indore / Q_CﬁT

4, Raipur / J[YYX

Correct Answer :-

e Jaipur / oIy

18) If the day before yesterday was Monday, then when will be Friday? / af¢; did T & | Ugd &1

o1 OiHaR 1, 9 YHaR Fa B

1. Three days after today / SIS EGIBAESEEIG]
2. Day after tomorrow / Pl

3. Tomorrow / 311 ATl &

4, Two days after today / TS 9 o fa uyra

Correct Answer :-
» Day after tomorrow / LR

19) If MOTHER is coded NPSGGT, then how is DAUGHTER coded? / Of¢ MOTHER &Y NPSGGT A
HIfSd fHaT SITd1 8, O DAUGHTER Y H8 Hifed fear s

1. EBTFJUCO
2. EBTFJVCP
3. EFTBJVDP

4. EBTFHVCP
)



Correct Answer :-

o EBTFJVCP

20) If FRIEND is coded IRFDNE, then how is RELATION coded? / '{Iﬁ FRIEND &1 IRFDNE &

FIfSd forar ST 8, @Y RELATION &) $9 Sifsd forar s
1. ALERTION
2. ALERNOIT
3. NOITALER

4. RELANOIT

Correct Answer :-

« ALERNOIT

21) If MKAGTUDPHX is coded 2876354019, then how is 307524 coded? /Tlﬁ' MKAGTUDPHX 373{

2876354019 A Hifsd forar SITaT 7, 91 307524 Y S HifSd fopar Srawm?
1. TPAMUD
2. TPXHGD
3. TPAUMD

4. TDPXHA

Correct Answer :-

22) Who among the following is the youngest Indian grandmaster in chess? | Frifea 7 4 99

ST Y BT Yavdl BT HRATT FSHRC DI 32
1. Padmini Rout / TR

2. Pendyala Harikrishna / UJTell m

3. Parimarjan Negi / BIRGISEE|

4. Pravin Thipsay / Tdior fos

Correct Answer :-

« Parimarjan Negi / giTSi it

23) Tipu Sultan was the ruler of / é’rqgmr—r e & & P
1. Mysore / ﬁﬁ?

8)



2. Hyderabad / %aﬂala
3. Ahmednagar / gHGTR
4, Ahmedabad / SeHgldlq

Correct Answer :-

» Mysore / ﬁﬂ?

24) There are 12 Jyotirlings in India of which two are in Madhya Pradesh. They are located in /

YRA H 12 ST § 1 399 A & Aed U= & Bl (AT 52
1. Ujjain and Omkareshwar / ToH 3R SNBHRYR

2. Ujjain and Hoshangabad / Io 3R LRI

3. Omkareshwar and Indore / Ghﬁ%? 3'?[1’ 's'aq

4. Bhopal and Indore / T 3R E_CaT

Correct Answer :-

« Ujjain and Omkareshwar / I 3R SBTHR

25) Who was the Prime Minister of India during Indo-Pak war in 1965? / 1965 | 8¢ HRd-

TS g5 & THT YR & TUFHA DI A2

1. Jawaharlal Nehru / STaTEX T A8

2. Indira Gandhi / $&% Treft
3. Lal Bahadur Shastri / ¢fI¢] dlgTgR Al

4. Rajiv Gandhi / Joig TITeft

Correct Answer :-
« Lal Bahadur Shastri / €lTc 98GR Tl
26) Who was the last Mughal Emperor? / sifaq HITT JHIC P UT?

1. Babur / dleR

2. Tipu Sultan / E1Y e
3. Aurangzeb / SR

4, Bahadur Shah II / dgIgR RMM8 EGIR

Correct Answer :-

« Bahadur Shah II / dglgR Rl Iadla



27) In a certain code language, wela sela tela means hot water bath, jela wela nela means cold rain
water, and nela nala pala means heavy rain fall. Which is the word for jela in that code language? /
Th Wi HIS HTHT ﬁ, wela sela tela BT 314 hot water bath; jela wela nela BT 31 cold rain water 3R
nela_galapala BT 3 heavy minfalla?lT%I Wﬁg Wﬁjela %WWWWWW
RIK | s

1, hot
2. water
3. fall

4, cold

Correct Answer :-

e cold

28) In a certain code language, Hold the line means hode fen ge, Pass the message means fen mesta
goka, Draw a line means hode waj diba. Which is the word for /old in that code language? / b ©Iq

PIS HTIT ﬁ, Hold the line &1 3% hode fen ge; Pass the message D1 3% fen mesta goka 3R Draw a
line ®1 Y hode waj diba BT &1 T BIS HINT H hold P T8 fhH Teg &1 STAHTT a1 AT 82

1. ge
2. diba
3. hode

4. fen

Correct Answer :-

29) The Kohira dam is located in the / $I'%?T Y TG W Ra %

1. Dhar / YR
2. Kaimur District / %&Y foram
3. Shivpuri / RITGRT

4, Rewa / Jar

Correct Answer :-

» Kaimur District / W foran

30) The Sundarbans stretch to which neighbouring country of India? / YRd & o tl?a'\’ﬁa'ﬂ H
Hexa e gaIT 82

1. Bangladesh / SIRGI A

(10)



2. Pakistan / OTfop &=
3. Nepal / e

4. Bhutan / ¥{CI

Correct Answer :-

« Bangladesh / AT

31) The famous singer Tansen was from /| URIE T® mqﬁ\f@ 2
1. Uijjain / IS

2. Indore / ET?R

3. Gwalior / TR

4. Bhopal / T

Correct Answer :-

« Gwalior / T@TCIRIR

32) Raviis 7 ranks ahead of Sumit in a class of 39. If Sumit's rank is seventeenth from the last, what

is Ravi's rank from the start? / 39 ﬁﬁmﬁﬁ&ﬂﬁﬁ,'ﬁ&ﬁﬁ7@4ﬁﬂﬁ%| 'Q'%'\ﬂﬁlﬁm
R 3id & T &, a1 TR A I BT RITH T g2

1. 17t
2. 16t
3. 14th

4, 15t

Correct Answer :-

4 16th

33) In the following question, some group of letters is given, all of which, except one, share a common
similarity while one is different.

Choose the odd one out:

/Frafafea uy 4, 3Rl & o uqg 3T T §1 39 9 #, $9d 0P o1 SisHy, 1 9qHdaT &
Wafd TH ST Bl

IH A faud &1 Tg= Fif:
1. VT

2. PR

(1)



3. FG

4. MQ

Correct Answer :-
¢ FG

34) Find the odd one out: / U fIUH FTd BIfTC:
8,9, 12,17, 24, 32

.24

2.12

3,32

4.17

Correct Answer :-

35) Complete the series choosing the missing letter/s: / &l SER/3HERT DI FADY @l G| Waﬁﬁﬂ:
PPq _Pq__Ypqrrp__qrpq_r

l.,p,qr

2.9,9,9, T

3.9,9,p, q

4.1,9,p,q

Correct Answer :-

* 1,g,p,q

36) Complete the series choosing the missing number: / Gl AT B T G| T aﬁﬁrq:
20,19,17,  ,10,5

1. 12

2.13

3. 14

4.15

Correct Answer :-

e 14
(12)



37) Complete the series choosing the missing number: / G AT JADR YTl | T PO
1,4,9,16,25,

1. 48

2.36

3.49

4. 35

Correct Answer :-

* 36

38) Complete the series choosing the missing number: / &l &I DR Tl | T PO
1,5,17,53,

1. 161

2. 159

3. 165

4. 147

Correct Answer :-

39) Select the option that is true about the Statements and Conclusions given: / 3 EEgRacLE]

PIE o 7 R e Sy 3R Frepul & o) & TE 8:

Statements: / PY:

Some cats are dogs / PO foeett ﬁ %
No dog is black / aﬁéw Casl -'-Iﬁ%

Conclusions: / frread:
I. Some cats are black / PO et wreft §
II. Some cats are not black / P& faeetl o1t ﬂﬁ%

1. both conclusion I and II follows / fTSF 1 3R 11 Y ST Dhd g

2. only conclusion I follows / Had MR [ IR BT §
3. only conclusion II follows / $Had FpY 11 ST FRATS
4. neither conclusion I nor conclusion II follows / 7 & f&pY I 3R A g ey 11 S0 G %

Correct Answer :-

« only conclusion II follows / Had BT 11 3T HdT &
(13)



40) The place of origin of Son river is near ./ q= TSI BT IH - & gy
gl

1. Dindori / Iégﬁ
2. Amarkantak / 3[FRhch
3. Umaria / SARAT

4, Khajuraho / "@qﬂ@

Correct Answer :-

o Amarkantak / 3R ch

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? (= 83 IR S 39 AR i §

HREEI?

L.
3,
4. b -

Correct Answer :-
(14)



2)
If the following two squares shown below overlap. which one of the following options is formed? / AT

HF & a9 Afdeag 81T £.ar TFa & § Fid 9T U6 [dhed addl &7

.&_\' .'H‘"‘ '—\1 ; T
."'Ef‘q«"l. pY,

L e

ra
“"’

Correct Answer :-

) ] 2
) Which of the following is greater than S%? | FFfelied # 8 &= 5; Y 937 87

(15)



L
] | Lh

1.
23
5
2.
30
7
3.
65
4, 7

Correct Answer :-

4)

q f " | i — - 5
Which of the following is less than 13;'.? | AT & & &= 13§ Y &HH §7?

110

8

137

10

12
3. 9

[T

8
7
4.

Correct Answer :-

122
. 9
5)

(16)



From a sack of peoiatoes weighing 120 kg, a merchant sells lots weighing 6 kg, 5%

kg, 9% kg, and 9:31 kg respectively. How many kg did he sell? / 120 T a=i= arer

HTefHT T SR W T AT = HA 6 T, S%T&ad,n, 9% mvdAl3ﬂT9§ T & &3 &t
o G| 39 fohaer faam a1rer s fear?

302 kg / 302 fam
2 2
1.
1 1
20- kg / 20- T
2 2
1 1
40~ kg 1 40 fFar

3.

102 kg / 101 far
2 2
4,

Correct Answer :-
1 1
30—5 kg / 3@; chdll

6)

?

(17)



4,

Correct Answer :-

7)

The sum of two numbers is of the first number. The second number is what

I | LA

= . .
- %-l q%lfl A, CIEé[ HIEAT &bl

percent of the first? /&7 TEAHAT HT AT Ugell TE T .
Tord=r widerd &7

[a k4
L 669%

66— %

66— %
4.

Correct Answer :-

2
66— 9%
3

(18)



Khan 's age after 15 years will be five times his age 5 years back. What is the present age of Khan? /

15 T4 UYTd @I B 1Y, 5 T4 Uga SHP! Mg BT Ui A1 g1 | W Y IdH Mg 1 82
1. 15 years / 15 a9

2.5 years /5 dY

3. 20 years / 20 T

4. 10 years / 10 99

Correct Answer :-

. 10years/10 T4

9) The Average age of a class of 15 students is 20 years. One student left the class and a new student
of age 20 years joined the class. What is the new average of the class? / Th DEIT ¥ 15 faenfdat 91
3e 3y 20 99 B 1 U faendf A wen o1 oS 3 3R 20 a¢ &1 v Tar faeandf s wan &
RIS 31T 8 | D& BT 14T a1 M2

1. 400 yrs / 400 TS
2.315yrs /31598
3. 305 yrs / 305 98

4. 300 yrs / 300 Y

Correct Answer :-
« 300 yrs /300 T

10) A briefcase was sold at a profit of 10%. If its cost price was 5% less and it had been sold for Rs. 7
more than the profit, it would have been 20%. Find the cost of briefcase. / U 3¢l B 10% &b ATH

TR ST I AT | AfS SHHT 54 Y 5% HH gial 3R 39 a1H I 7 30 31t uR = simar ot
SHDT ATYH 20% BT &1 e BT T Yo F1d B3 |

1. Rs. 170 / 170 30
2. Rs. 169/ 169 ST
3.Rs. 175/ 175 W

4. Rs. 174 /174 3T

Correct Answer :-

« Rs.175/175 300

11) When a book is sold for Rs. 24, the seller loses 20% of its cost. What would be his profit or loss, if
he sells it for Rs. 27? / T4 U Y DI 24 TUA B ST o147 €, A1 fIohd1 BT STB! ST W 20%
BT gidl 1 Ife 98 I 27 Ul # 91 @ o STP!T a1 T 81 T R

1. A loss Rs. 3 /3w€rﬁeﬁ

(19)



2. AlossRs. 1/1 F@ﬁaﬁ
3. A profit Rs. 4 / 4 300 &I ATH

4. A profit Rs. 6/ 6 3UY BT ATH

Correct Answer :-

. AlossRs.3/3mﬁ€Tﬁ

12) What number is such that its 16 % is 1922 / QI 17 T} T=T & RRIBT 16%, 19282
1. 1200
2. 1160
3. 1260

4. 1440

Correct Answer :-
« 1200

13) The ratio of ages of X and Y are 5:.4. After 25 years, the difference between their ages will be 20
years. Find the present age of X. /X 3R Y Ft SI1Y T SUId 5:4 g125 v Uy, ITH1 3T BT
3 20 99 GRITI X Bt TAAT TG FTd B |

1. 100
2. 50
3.90

4.70

Correct Answer :-
e 100

14) A swimmer can swim at a speed of 0.5 m/s in still water. How much distance will he cover in 25

minutes? / T aRTP FRR @ H 0.5 ey AHvs &1 91 A O IHdT 1 25 fBite & ot fpa-t gi
DI T HIM?

1. 450 m / 450 HicR

2. 600 m / 600 HIcX
3. 500 m / 500 HIcR

4. 750 m /750 HIcR

Correct Answer :-

« 750 m/ 750 Hicx
(20)



15) If 18 men can finish a job in 26 days, then, in how many days will 13 men finish the same job? /

Tfe 18 T 26 foAl H T o1 Y WATE HX TP d €, 9 S Frf B 13 =9 fraq fo= o
T B2

1. 25 days / 25 f&
2.22 days /22 f&A
3. 19 days / 19 f&=

4. 36 days / 36 f&T

Correct Answer :-

« 36days/36 e

16) 270 is divided into two parts such that sum of 3 times the first part and 2 times the second part is

630. What is the smaller part? / 270 ﬁa’r mmﬁﬁwmﬁmm%mm%%ugﬁ U & 3
T 3R GER U & 2 A BT AT 630 8 | TY U i A1 52

1. 180
2.90
3.70

4. 120

Correct Answer :-

17) If aline, 10 cm long, is divided in the ratio 3 : 5, then, the lengths of two resulting lines will be: /

%R;ﬁwi@,a’r% 10 T el B 3 : 5 & SrguTa A fyufora &, 9 St ufvurme Yame #t awrs

1. 5.75 cm, 4.25 ¢cm / 5.75 TH, 4.25 THI
2.6 cm, 4 cm / 6 THI, 4 THT
3.6.5cm, 3.5 cm /6.5 9HT, 3.5 TH

4. 6.25 cm, 3.75 cm / 6.25 THI, 3.75 THI

Correct Answer :-
¢ 6.25cm,3.75 cm/ 6.25 9HI, 3.75 THI

18) Qis as much younger than R as he is older than T. If the sum of the ages of R and T is 50 years,
what is the difference between R and Q's age? / Q, R A IaT ﬁ' BT % Rrafe de T a EE) %l
gfg R 3R T BT 3R BT TNT 50 T &, T R 3R Q P 3TY BT 3k T 82

(21)



1. 25 years / 25 GL
2.2 years /2 G

3. lyear/1 CL
4. Data insufficient / €T &I'CI'Q"I:ET %

Correct Answer :-

« Data insufficient / ST 0T %

19) In a market survey, 20 % opted for Product A; 60 % opted for Product B; while the remaining
people were uncertain. If the difference between those who opted for Product B and those who were
uncertain was 720, how many people were covered in the survey? / b dIellR Tdeur |, 20% =

IS A DI T, 60 % A IUTG B B 1, SafP AW AT ifAfda &1 afe sl Sue B S g1e
3tz st 3rfAfera & 3 il & i 3R 720 €, At foraa @il &Y wderor ® =mirer o T e

1. 1,800
2. 3,600
3. 1,600

4. 1,440

Correct Answer :-

20) A can finish a work in 18 days and B can do the same in 15 days. If B worked for 12 days and
leaves the job; then, in how many days can A complete the remaining work single-handedly? / A

foreht ot @Y 18 fa=1 A 8iiv B 330t w1 &Y 15 3 o 1 % Gwpar 31 1fe B, 12 fol & g wrd
BT ¢ 3R Y BT Bl TR Y 3PaT A 99 g BT B fpa 31 & R BEM?

-
2

days / 3% G
5

Ly | =

2 2
3-days / 3= Tea
5 5

?édays ! ?ri_ et
3 5

3 feer

days / 3

Ly | L2
L | L2

Correct Answer :-

(22)



21) The sum of the place values of 5 and 3 in the number 364572 is: / 364572 GBI A 5 3T 3 F

R °H] TR 3:
1. 3500

2. 100100

3.5

4. 500300

Correct Answer :-
« 100100

22) By selling a T-shirt for Rs 216, a shopkeeper loses 4 %. For how much should he sell it to gain 12

% 7 / AV-RTE B 216 TUA T SUDBR, TP GHER Bl 4% DI g1 Sicil § 1 12% ATY YT B &
o1 32 -1 fora o Qi TR w?

1. 552
2. 352
3. 252

4. 652

Correct Answer :-

e 252

23) A train travels at an average speed of 50 km for 3 hr, and then travels at a speed of 75 km for 2

hr. How far did the train travel in the entire 5 hr? / U ¥d 3 U & forg 50 o &t sia o &
T Bl g 3R TP YT 2 °e F e 75 it 1 =mer & amem w=edl 81 vyl 5 9ef # ¥a feaeit
3 D AT B2

1. 300 km / 300 Tt
2. 275 km /275 TdH1
3. none of the above /mﬁi}[aﬁéq@

4. 250 km / 250 foBHt

Correct Answer :-

« 300 km / 300 T8



24) A train passes 2 scoters moving in the same direction. If the train travels at a speed of 60 kmph
in 30 sec and 90 kmph in 45 sec, then what is the length of the train? / GHIH feemd TR 2 Wﬁ
I TP ¥ UR Rl 51 AfE 30 AHUS | 39 60 f5H iy gt 3R 45 Awvs A 90 foveit wfer ger 3t
T & AT SRl &, Al ¥l Y AqwaTg T 82

1. 800 m / 800 Hiex
2. 520 m/ 520 HicR
3. 600 m / 600 T

4,750 m/ 750 TR

Correct Answer :-

« 750 m/ 750 Hicx

25) Which one of the following four addresses is NOT EXACTLY same as the one given

below? / Y9 {33 0 IR tal # A =2 23 T yad & St I9HE D9 91 U 81 82

Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia

(i) Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia

(ii) Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia

(iii) Kedrick Shaw
72 Glenwood Drive, Thornton,

NSW 2322, Australia

(iv) Kedrick Shaw
72 Glemwood Drive, Thornton,

NSW 2322, Australia

(24)



4, 1ii
Correct Answer :-
o 1V

26) Abhi and Prem together have Rs. 3,000. Even after Prem gives Rs. 400 to Abhi, he
1

finds that he has 4 the amount Abhi has. How much money does Abhi have now? / 3y
3R U9 & U $d 3,000 TUA &1 gTaifes, A Bt 400 FWA 37 F uTd, U9 F Jid Fa1 8 [
1

I U S Y eI BT 4 §1 9f T 8, o o & S & ury et eeRif &
1. Rs. 400 / 400 3T

2. Rs. 1,000 / 1,000 U

3. Rs. 800 / 800 U

4. Rs. 600 / 600 ST

Correct Answer :-
« Rs. 600 /600 ST

27) A triangle and a parallelogram constructed on the same base have equal areas. The
height of the parallelogram is 5 cm. What is the height of the triangle? / T® BT 3R
AR TGS S A STYR TR TTE SITd & S Shd JHH & | THMTR agys 3t $arg 5
Tt 71 Bt Bt Sag w82

1. 10 cm /10@1:?[
2.12cm /12 94t
3.2cm /294l
4.5cm /5 THt

Correct Answer :-

« 10cm /10 9Ht

28) The LCM of 3a and 15ab is: / 3a 3iR 15ab &T TYWH TATITY &
1. 13ab

2. 15ab

(25)



3. 14ab

4, ab

Correct Answer :-
e 15ab

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect
combination: / <l &} T8 gae ¥, &Ry 3R W= #1 U % fHifed 1 T GO yganie:

i.hpopr8752rpoph
ii.hpopr8752rpoph
iii.hpopr8752rpoph

iv.hpopr8952rpoph

4. iii

Correct Answer :-

30) Find the average. / 3ua fReiferd |
33, 40, 47, 54, 61 & 71

1. 55

2. 51

3. 49

4. 53

Correct Answer :-

Topic:- Science and Simple Arithmetic

1) r— , x—-
FE2_ 1 thenx=  /TE 221 @ry=

2z Ix

1.6
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2.8

3.4

2)
The area of'the floor of a rectangular hall is 960 sq cm. If carpets of size 6 m * 4 m are awvailable,

the number of carpets required to cover the hall is: / T& IR GieT HI B & &6 960
I HHL §1 A HRUE HI 39 HBR 6 AL x 4 AL §, Al Glel hl B &l bl & oT
HRUC I ATaRAS AT TolF= gl

1. 45

2.40

3. 80

4. 60

Correct Answer :-

3) [ | -
The value of \f 2483+ ‘\."m = /

J ——
(248 + 52 +/144= F AW e gem

1. 16
2.28
3.32

4.18

Correct Answer :-

4) If the adjacent angles of a parallelogram are in the ratio 1:3, then the smaller angle is: / afe TaTaR
TAGUS & SATH BN BT AU 1:3 €, 1l BT ST = gm:

=]

1. 45

=]

2. 40
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=]

3.35

=]

4.75

Correct Answer :-

o

e 45

5) If a circle has a perimeter of 44 cm, then find its diameter. /TI'%W qdod &1 aiRfer 44 A, %, @ EXCal
T JTd DI

1. 12 cm /12 99
2.10 cm /10 9.
3.16 cm/ 16 T,

4,14 cm / 14 94,

Correct Answer :-

e 14cm /14 94

6) What is the probability of choosing a vowel from English alphabet? / 3t quiHTeT 9 Up Td &
T g1 B fpast wiiear g1l 82

1.0

2.1
21

3, 26

5

4, 26

Correct Answer :-

7) Spot the wrong statement about multicellular organisms. / W’q Sital & fawag | Tea 9
BT I Be |

1. Each kind of cell is specialised to perform a specific function / UAP THR DI BT AfRee Hrf B
& feru gt &1

2. All cells perform life functions / Tt W Sita e g Bl B % |
3. All cells are identical / T+ & iﬁl%l@ JH=T _E?R‘ﬁ%l
4, Each cell can exist on their own / TS PHIBT BT AT 3Hfdd Eﬂ?ﬂ%l

(28)



Correct Answer :-

« All cells are identical / G4 m JHE=T @T‘ﬁ %;I

8) In a plane mirror, a virtual image is always formed: / THaA SUUT H, Yt ufafaa g IR
Ffifa gt &:

1. Behind the mirror / TUUT & Ule
2. Behind the object / T%] & Uty
3. At infinite distance from the mirror / GUUT ¥ 3fd @ W

4. In between the object and mirror / & Td U & ger

Correct Answer :-

¢ Behind the mirror / ?{CfUT CAAYEY

9) Name the structure which segregates the cell content from surroundings in an animal cell? / 3
TERHAT BT A1 TAT5E, 511 U] BIRDT T RI-URT & UIRART T DIRIDT G0d B GUFHd Hdl
82

1. Nucleoplasm / Pod G

2. Nuclear membrane / ATTH®IT @Wﬁ
3. Cell wall / SIRTT R

4, Cell membrane / PHIRABT %ﬁﬁ

Correct Answer :-

e Cell membrane / mﬁﬁﬁ

10) Wheat is a monocot because: / ﬁﬁt{iﬁ CIGREI] % Ffp:

1. It has a fibrous root system / S9H YRGR TS JUTeH g

2. It has compound leaves / $TH Tgad ufri g1

3. The vascular bundles are arranged in a ring / Jag-10 SSd 9ad § SI9Ud &

4. The leaves of the plant have reticulate venation / Tielf &1 Gferl & SiiferesT Ul FRRT &A1 B |

Correct Answer :-

« It has a fibrous root system / 398 YRER S YU g
11) Thevalue of m, if * —°%3 jsi. yafg 77 =343 &t m &1 9 fe=r @

1.5
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2.3
3.4

4.2

Correct Answer :-

12) CANCELLED

If Rs. 600 amounts to Rs. 683.20 in two years, when it is compounded annually, then the rate of interest

%e:;nnum is: / TfS 600 TUY TP U J Thgfex I W & T4 H 683.20 U 81 ST &, TS g

1. 10%
2.85%
3. 8%

4. 9%

Correct Answer :-
o 8%

13) The least number by which 36 can be multiplied to make it a perfect cube is: / 98

BI A B v A= 8 R 7on $37 WR 36 i ¥4 59 91T
1.6
2.5
3.3

4.2

Correct Answer :-

14) If the selling price = Rs. 713 and its cost price = Rs. 620, then gain percentage is: /
gfe forelt avg &1 o o = 713 U, 3R SUST H4 oI = 620 FUY g, a1 a1 ufa=ra ==
@TIT:

1. 15.5%
2. 16%
3. 19%

4. 15%
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Correct Answer :-
e 15%

15) The example of connective tissue is: / TSN Ha® BT TH IRV 8
1. Cartilage only / R Suy

2. Bone only / b oify

3. Blood only / R RS

4. All the above / SUad TH

Correct Answer :-

« All the above / B'CPEIEH qut

16) Asexual reproduction in Amoeba takes place through: / 3T § 3ra e S sﬂﬁ?

AR 9 FIaT &
1. Regeneration / YT9&d

2. Budding / Hpcld
3. Binary fission / FAGRERE

4. Fragmentation / Jag&-

Correct Answer :-

* Binary fission / fgfage

17) Opposition to the construction of large dams is due to: / a:?ran%ﬁ & famtor &1 foRiy
3 BRUI BT 8:

1. Environmental reasons only / % wafervitg srRuT
2. Economic reasons only / Rk snfdfes HRoT

3. Social reasons only / R THIRIE HRUT

4. All the above / Iujaa aft

Correct Answer :-

« All the above / G'CIQEH a4t

18) The length, breadth, and height of a cuboid are in the ratio 6:5:3. If its total surface area is 504 sq cm,

then its volume is: /WWN@W,MHWW&Sﬁ%Wﬁ%I qﬁmwm
&TFd 504 71 AL, g, 1 SHPT RIG F=1 i
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1. 700 cu cm / 700 I T,
2. 728cu cm / 728 I IHI.
3. 640 cu cm / 640 T T,

4. 720 cu cm / 720 T 9,

Correct Answer :-

e 720 cu cm /720 9T I,

19) The adjacent sides of a rectangle are in the ratio 5:12. If the perimeter of the rectangle is 34 cm, then
the length of its diagonal is: / ST P STRT~T YIS BT STUT 5:12 §1 TS ST HT GRTTY 34 T,
T, a1 39 APl &1 dar A gifl-

1. 12cm / 12 9,
2. 11lcm /11 3,
3. 10cm / 10 94T,

4,13 cm /13 T,

Correct Answer :-

e 13 cm/13 99

20) If a crystal of potassium permanganate is kept in a beaker containing water, the water becomes pink
after sometime. What characteristic of matter is inferred through this observation? / ?Tﬁ' TRy
RATT &1 TP Iq1 TP O o SR B 36T oY &l $B THY UYTd 98 ST el g1 Srar g1 59
W&ror & gRT uerd &1 Hi W favivar Fresfifa ot o1 wedl 82

1. Particles of solids break easily when pressure is applied on them. / 319 & HUIl IR &&1d ¢4 I d
3T ¥ ge S B

2. Particles of matter have space in between them. / U1 & BN o S SfaRTd gl %l

3. Particles of solids are tightly bound and they are rigid. / 31 & HUI HUH §U BId § adl TG HGE

4. Particles of liquid are loosely bound and they can flow. / «d CCAKRER KNG %’ qYUT d Taled 8 Td %"I

Correct Answer :-

« Particles of matter have space in between them. / sz & PHUN & ST T Eﬁ?ﬂ %l

21) Which one of the following is a thermoplastic?/ Ffaddsaan TP diggucd 7
1. Melamine / fl?l'@ﬂ:[

2. Vulcanized rubber / e Hd REIC
3. PVC/ Uidt
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4. Bakelite / SHATSC

Correct Answer :-

o PVC /UG

22) When a bar magnet is cut into two equal parts, then: / 59 T ¢S qHD &l SRTER U | PTeT ST
g,
, dl:

1. One part will get north pole and the other part will get south pole / T HRT I&R! 4d &1 ST § 3R
SORT YT gl g g S g

2. Magnetism of both the parts will be lost / S YT BT qis{ch o AT Wl %I
3. Pole strength of both the part will be increased / G YT &Y gd e o q@' BRI

4. Each part will become a magnet / TP HAT Ub JHch & SIdl %I

Correct Answer :-

e Each part will become a magnet / TS HIT U g d SIcl %I

23) Solar cells are made up of: /AR @ﬁm Eﬁ?ﬁ% %
1. Insulators / 313@2?

2. Semiconductors / GATADH

3. Superconductors / JfdaTA®

4, Conductors / dIcIdh

Correct Answer :-

o Semiconductors / SATAD

24) Which kind of muscle gets tired by prolonged periods of activity? | 5T UpR Bt U=A Fdt Aiafafdr
& GIRT Y ST 82

1. Cardiac / E??ﬂ

2. Muscles will not get tired / ush :I_GFT Yl %
3. Striated / URIGR

4. Non-striated / URRfgd

Correct Answer :-

o Striated / Y i|3|?
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Which of the following provides polar bear insulation against extreme cold? / Fafafea dd «
AARIF $8 & favg ydia UG ®1 AU W= Ha1 82

1. Pointed mouth / <IT&0T T
2. Fat layer / 9T UXd
3. Huge size / fa=Te SR

4. White fur / JBG TR

Correct Answer :-

 Fatlayer /94l URd

26) Which of the following is an example of contact force? / fafafead ﬁqw U 9 BT
IETETT 2

1. Magnetic force / W’q EE
2. Electrostatic force / fRR dgad a@
3. Gravitational force / ‘I\Wfﬂ'q EN}

4, Frictional force / EIEWW

Correct Answer :-

e Frictional force / ooff el

27) One of the functions mentioned below is not performed by the ‘C’ shaped cartilaginous rings in the

trachea. Identify the same. / ﬁﬁqwmﬁﬁwmﬁw-ﬂ?ﬁﬁ 'C' 3THR a1 @T@Igﬁ
Jordl gRT 8] foran oI 81 39 g |

1. It provides support / dg & UG BT B

2. It helps in the absorption of 05 / Ig 0> F I H Heg Bl ¢

3, It allows uninterrupted flow of air / I8 a1 & 3Hfaf=ss UaTE ®1 AR a1 B
4. Tt prevents collapse of the trachea / g 4T Teil & U BT bl &

Correct Answer :-

« Tt helps in the absorption of O, / T8 05 & AT H Heg Bl B

28) Find the quotient; (4*° —2x* —3) + (22" — 1) | (4x® —2x* - 3) + (2%* — D 57 yorpey 7y
CAIE Y

1. 2x + 4

2. 2x —4
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3.2x+1
4.2:36—1

Correct Answer :-

. 2x—1

29) Thevalueof @+ —{la—-0?*=____ , (a+b)*—{a—b)* gy um e gFm:
1.2@ + 5%
2 ab

3 dab

4. 2ah

Correct Answer :-

{(3x+5)° (61

30) If the opposite angles of a parallelogram are and N x)n, the angleis: / gfe T
TateR Ty ¥ fradta e 3% +5) qop (61 — 0% % & yor e @

o

1. 47

o

2.50

=]

3.74

=]

4, 48
Correct Answer :-

. 47

(39)



